8. isresponsible for the protection of your family's data : :gﬁmf “MdJIJJlJJ:lc,B&?J L3l sl
(&) DCO &) cro {C)} HADRA M) LRO
9. The __ element is a container for metadata : :4‘;,&(;‘_ 3(:_1,—1;1'4;1 .
{4y < body > (B) < head > {C) <title > (D) < himi >
0. Which tag is singular tag R @J/ﬁ.ﬁdf
{5y < ﬁ;bdy > (B) < head > {C) <br> (D) < titie >
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8.5.C-(Part-[)-A-2022

Paper Code | 5

813

(uy”)gf“"!fﬁf
mf‘

Jv/i‘”c:..\ﬁl.»du%.[rlafd_./f .pl:«‘:.. J'u:/bLDL C,Bx A :f.m_Lfc’_/,
n" 2 Wiite answers o the questions on objective answer sheet provided. Four possible answers ABC & D to
ach gusstion are given Which answer you consider correct, fill the corresponding circle A,B,C or D given in front

.

1. Cividing 2

(&) Divide and Conquer L/f unl(jf,—‘j {B) Guess and improve uf/Lz /—f(u:‘u:/@n]f}-"
(©} Actitout  wdie 51 i {3y Prototype <+

2. The sympolsw=waasyin the flowchart is called : :.;_&M&,»usl,f e uﬁ‘.wt__uﬁ
(&) Arrow (sl {B) Fiow line s {€) Direction o (D) Start 2.t

3. The number of digits in hexadecimal number system Ig:.,df JwJufmj"rUudef ;UG .
s |
(&) 2 ) 8 (C} 10 (©) 16

4. Expression A+(B.C) is equal to _ :g.,(iﬂ.d,chf._________ A+(B.C)J‘fﬁg !
(2 A4B.C) (B) AH(B+C) (C) (A+B).(A+C) D) (AB)+A.C)

5. Mumber "16" is aqual to ___in binary System et “18” /:?ui'(i'/ 8L
() 101000 @) 10010 (€) 10110 (D) 10000

6. Every data packethasan _____ adderess. e b b LeL
£) TGP (B} FYP {cy p D) HTTP

7. Reking legal copies of sofiware is called _____ ‘g t'll:-'/ tbdaﬂdﬂ?f! JZ?PJJV

& Encryplion (Sl (8) Piracy (127

complex problem into smaller problems is called:

{C) Computation Fond

of each question with Marker or pen ink on the answer sheet provided.

Lub Ufﬁ:)/r;j (j: u;ll/‘z.,}{ﬂ/néf_}- .

{3} Decryption o /‘Z5
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l Roll No. o B (For all sessions)
., R P—‘-t
Fﬂmputen Science (Essay Type) Group-l m,wa J#}
404 F Jil = )
- B=dx2 - | o ,Lr,x A Y S TP
N AN | Sy i e (L <osles B i (lLu i/uiou e d SS i
; _Q/J:gu:ﬁ”}g?d/v’u’(-;so)w i e bl ;_,m«‘_}cu”,f.,, P . N ("U'«ﬂﬁ/e/'" e
8=4x2 vé.g-,,f/..';a L1 ﬂLf’J.iJ%z.:deg;.q,szuﬂ ~3
AL JJ O il Bl bl LGS L SEHIGRE Dnp
L L ELP N e A A UK 2 NW N
3=4x2 wéﬁl IRy L1V ¥ S O ST Y]
el g» Ao HTML i ’/ A, Scarnmer),%:?ii fo vttt Dos i

3 (,,",.jiﬂ/f 1/ LJAL}:'
&S K M Love Pakistan” o~ i Se JESUAHTMLE G <Ps v wie J,pf i YA j 7ML
= : 4 {

Y
S AR HTIML u.r_;;ff’rt;ﬁ
16=2x8 (32,
! L,):.ai},f;if:» 8l Jfr'J-r—“-!f& »,ﬁu u 5l et
-g“‘..u’/u/l(!jjg /».-Mﬂ‘gftjﬁ/u//,/ ol ._,d} Kﬁ, e i e 2 ?’l/./L- 3 -(_j‘”(’ / N ”/)( .

- jL Sy

Computer Science (Essay Type) Group-1 {(For all sessions)
Time: 1:45 Hours Section -1 Total Marks: A
2- Write short answers of any four parts from the following. 23d4=8
i. Write problem solving four steps.
. Write any fwo advantages of flowchait.
ii. What is meant by Tesi daia. iv. Describe types of memory.
v. Why RAM is called volaiile memory. vi. Convert (160). 10 inta binary.
3~ Write short answers of any four paris from the following. L=
. Draw a flow chart for the preposition. P.Q+F i, Write down any lwo disadvantages of Mesh Topology.
. Define Distributive Law. . iv. Define Boolean expression.
v. What is SMTP. vi. Write down the standard names of [P addressing.
4- Write short answers of any four parts from the following. x4
i. ¥Vhat do you meant by Dos? . What does the scammer websites play rols in cybercrima?
iil. Whiat is Head section of HTML document? v How many types of lisis can be creatad in HTML? YWrite their
names. ,
v. What is the use of tag <P> in HTML vi. Write code in HTML to change the color to "Biue" of the texi
"t Love Pakistan'.
Section ~1I Bx2m106
MNote:Answer any two questions from ths following.
. Write a note on planning of a solution. %, What is meant by star topology how does its work also

write two advantages.
7. Wirite a note on importance of Encryption for Everyday
Life on the internet.

250-09-5-40230
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Roll No. e S a#sa (For all sessions) Paper Code | 6 | 8] 3| 2
Coumputer Scienee (Objective Type) Grotg-LL- Gt (55 S s
Marks: 10 L : “Time: 15 Minutes 22*15::9 R"QP-CL)_-_- 10,4
v b(;(é&’d‘m:u‘f"’- eyu%ﬂ'fhglﬁu)«u?

éié-—JDJ",C.B,A&Q'ﬁ,ﬁlkeﬁdiyﬁéﬁqg(é{d'ﬁd‘;f'&z‘)wl_f"ﬂ -.::U'rrl?!\b;
e PSS e I e S sl D | CBe A sz L
METE: Write answers to the questions on objective answer sheet provided. Four possible answers AB,C & D to

each question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front
of each oquestion with Marker or pen ink on the answer sheet provided.

1.4, Which solutions are written without work planning?

e bl i A
@) Candid Solution J3eS

{D) Best Solution S5z

(%) Prepared Solution Sl

(C} Strategized J’(frdf =

2 Wa____ ernor, the Algorithm is working but giving wrong ..__,L?.EL:_ t‘yrpdf-(%ﬁlcﬂﬁ (fh J(:’ 2
rasult. gt e a5l
{£) Random error J;!r‘ig:f,J {BY Logical error ./l j;,é 1]
(G Syntan emvor 210 K< (B) Runtime error J{'(; b

3. Hunber (18),, s eoualto __________in binary system : :%-,L-,WU,L (18), O/'uf(b'/ U 3
(&) 10000 ) 10110 {Cy 10010 (D) 10100

A ___is @ device which holds data as long as it has power supply {zjb{j‘(j“l)J (ﬁ.i/‘z‘;,_l'f'tglﬂ____ 4

connacted o i ' :ﬁ-_,CnCJ;i‘"
{5) ROM v ) RAM (C) Hard Disk U454 (D) Memory cards  3.6Une

5. i both propositions are true then °.Q will be equal to : g

e 1P QY st il Ui /5
P= Uﬁ‘:‘q}l‘)ﬁh:/lf"ui
Q= gutltie

P = | live in Punjab
G Ry sountry 1s Paldstan

{#) False {5y True

{C) Negation () Indentity Law
8. How many layere of TCPAP Model. wAFSIsTCPIP 6
(49 6 s () 4 o) 3
Y. israsponsible for the proiectior; of your family date: 3{;.1})’2(_51’),.»5(,( djbjlwmpﬁt}nf Lidut 7
iR} Avimiy () FIA {C) DPO (D) NADRA
8. isine process of encoding data: g Jf K@@éd/ 63 8
() Evcryption (bl (&) Sabotage (b7 {C) Piracy (AL (D) Soft lifting 3L

G, Wihat king of list will < 0l > tag creates:

.:g,t*lw)Jr:ffJ% o> .9
(D) tnordered List w557
s Je G < IA =< A> 10
{8) Creat alinktopage HALE
(D) Formatting Text L‘/;ﬁfjlic,yg
254-09-S-%¢ -20590

{6y Mested List orbs  (B) Ordered List w437 (€ Blank List &6
10. < A > and < A/ > tags are used for
2y Adding Image £/ Fhyr?

T i Bl :
{C) adlignimend Texd t/2 e
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Roll No. . Fiswud {For all sessions)
Cﬂmpuier ICICNCE (Essay Type) (J‘K‘Oll}l*ﬂﬂ”h—d/j (26 i) LJ L“
40 /"‘g){ J(’Lﬁ‘ p-q:_'»_ ’5"' it t"S L))
8=4x2 _c_”/,uu; A nmu,w(} Y T
S Undiid AT (Se e Ut A i Sl e S i fe il lfc-wu_,nj ¥
ISR BOES (156) - J/’Lj.‘.'d,,:uvu,,cju_,rd,,"Juu,, Ry vf_,yg(_.r@(_}f 5 iy
LSk
8=4x2 ::gffwl,lj’/"’ ‘C—f'f‘l["s—.——d G.—JLJJC/}) )
' LS I i AL S gl OR i LIPS 35
-0k
e P AIBI Vi e b B ST e B!
8=4x2 : B L Y R LAy ) ST
L2 P HTMLEL L haticy ™ Pakistan” £ i o/ i 75 Phishing i _Lg,@guwfm{ﬂ“ U
et L HTML i S ST v Y HTML s b S B iy
_u;’f’g
6=2x8 f"ﬂ,f_.ﬁ'@

J;’ r—»Uf’:l:LH Yeprem.. L)JK LJ~(JJZ/J" i)

o

)
Lfruluj‘ﬁd}fL{gf’?{Z’gK}E/ﬁ«i}(/ £ I NS L_l "CJ/(L; B PIAL Y /(stﬂ’/“‘(,)'/ B 'Lyr(’/ Ji 5
S ol ,i ug/.fwufg;,dﬂif’ W9

Computer Science (Essay Type) Group-II (For all sessions)
Time: 1:45 Hours Section ~I Tretal Marls: 40
2- Write short answers of any four parts from the following. 2n4=D

i. What is meant by act it out?

ii. What is meant by trace table?

iii. What is the use of "Set" notation in iv. What is meant by hexadecimal System?

Algorithm? 7
v. Differentiate between volatile memory and vi. Convert ( 156)1O into binary number system?
Non volatile memory?

3- Write short answers of any four parts from the following. 2x4=8
i. Define Compound Proposition. ii. Draw Truth table using 'OR' operator.
iii. Define Associative Law. iv. What is meant by Bus Topology.
v. What is the use of SMTP protocal. vi. How to make Star Topology.
4- Write short answers of any four parts from the following. 2x4=3
i. Describe the two weaknesses of substitution ii. Define phishing.
ciphers method.
iii. Write the HTML code to make the word v Write the HTML code using font tag.
"Pakistan"” italic.
v. Define rowspan. vi. Which elements are needed to understand HTMIL language.
Section -IT 3x2=16

Note:Answer any two questions from the fol lowing. :
9. Define Algorithm? Write a note on three advantages 6. Define data Communication. Describe any three

and disadvantages of an algorithm. components of Communication system.
7. What is software piracy? Explain its any three types.
252-09-5-29590



